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Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer any TEN questions. 

1. What is financial management? 

 {v°¯À ÷©»õsø© GßÓõÀ GßÚ? 

2. Write a note on investment decision. 

 •u½mk •iÄPÒ £ØÔ SÔ¨¦ GÊxP. 

3. What is marginal cost of capital? 

 TkuÀ •uÀ Qμ¯® GßÓõÀ GßÚ? 

4. What is Capitalization? 

 ‰»uÚªhÀ GßÓõÀ GßÚ? 

5. Give any two significance of financial leverage. 

 {v°¯À ö|®¦÷Põ¼ß •UQ¯zxÁ® H÷uÝ® 
CμsiøÚz u¸P. 

6. What is stock dividend? 

 FUP¨ £[Põuõ¯® GßÓõÀ GßÚ? 
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7. Define Dividend. 

 £[Põuõ¯® Áøμ¯Ö. 

8. What is leverage? 

 ö|®¦÷PõÀ GßÓõÀ GßÚ? 

9. State  the meaning of cost of equality. 

 \õuõμn¨ £[SPøÍ ©v¨¤hÀ Gß£uß ö£õ¸Ò 
TÖP. 

10. Mention any two assumptions of Walter’s model of 
dividend policy. 

 ÁõÀhº êß £[Põuõ¯ öPõÒøP°ß 
AÝ©õÚ[PÒ H÷uÝ® CμsiøÚ SÔ¨¤kP. 

11. Define working capital. 

 |øh•øÓ •uÀ Áøμ¯Ö. 

12. Write the meaning of temporary working capital.  

 uØPõ¼P |øh•øÓ •uÀ Gß£uß ö£õ¸Ò GÊxP. 

PART B — (5 × 5 = 25 marks) 

       Answer any FIVE questions. 

13. Discuss the approaches of financial management. 

 {v°¯À ÷©»õsø©°ß ÷£õUSPÒ £ØÔ ÂÁõv. 
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14. Explain the term optimum capital structure. 

 Ezu© AÍÄ •uÀ Aø©¨¦ GßÓ £uzvøÚ 
ÂÍUSP. 

15. Distinguish between capital structure and 
capitalization. 

 •u¼Ú Aø©¨¦ ©ØÖ® ‰»uÚªh¾US Cøh÷¯ 
÷ÁÖ£kzxP. 

16. Explain features of cost of capital. 

 •u¼Ú AhUPzvß ]Ó¨¤¯À¦PøÍ ÂÍUSP. 

17. What are the objectives of dividend policy? 

 £[Põuõ¯® öPõÒøP°ß ÷|õUP[PÒ ¯õx? 

18. The earnings per share of Jazz limited are Rs. 10 
and rate of capitalization applicable to it is 10%. 
The company has before it the options of adopting 
a pay out of 20% or 40% or 80%. Using Walter’s 
formula, compute the market value of the 
company’s share if the productivity of retained 
earnings  

 (a) 20% 

 (b) 10% 

 (c) 8%. 
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 áõì ¼ªmiß C»õ£® £[S JßÖUS ¹.10 

÷©¾® ‰»uÚ ªhÀ ÂQu® 10% {Ö©zvß Â¸¨£ 

HØÖUöPõsh Â¸¨£ •ß ö\¾zxuÀ 20% AÀ»x 

40% AÀ»x 80% BS®. ÁõÀhºêß `zvμzvøÚ 

£¯ß£kzv {Özvß £[S ©v¨¤øÚ PnUQkP. 

{ÖÁÚzvß uUP øÁUP¨£mh »õ£ EØ£zv  

 (A) 20% 

 (B) 10% 

 (C) 8%. 

19. Bring out the advantages of adequate working 

capital. 

 ÷£õx©õÚ AÍÄ |øh•øÓ •u¼ß |ßø©PøÍ 

öÁÎUöPõnºP. 

PART C — (3 × 10 = 30 marks) 

            Answer any THREE questions. 

20. Explain the relationship between financial 

management and other financial areas. 

 {v°¯À ÷©»õsø© ©ØÖ® Cuμ ö\¯À£õmk 

£SvPÐUS Cøh÷¯ EÒÍ EÓÄ •øÓ°øÚ  

ÂÍUSP.  

[P.T.O.]
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21. Describe the significance and limitations of 
financial leverage.  

 {v°¯À ö|®¦÷Põ¼ß •UQ¯zxÁ® ©ØÖ® 
Áøμ¯øÓPøÍ  ÂÁ›.  

22. What is the importance of cost of capital? Discuss 
the problem in determining it.  

 •u¼Ú AhUPö\»Âß •UQ¯zxÁ® ¯õx? Aøu 
wº©õÛ¨£vÀ EÒÍ ¤μa\øÚPøÍ ÂÁõv.  

23. Explain the nature of dividend policy.  

 £[Põuõ¯ öPõÒøP°ß ußø©°øÚ ÂÍUSP. 

24. From the following information, prepare a 
statement showing working capital required by 
the company : 

Level of production per month : 20,000 units 

Selling price per unit : Rs. 20 

Margin on sales : 10% 

Expected ratios of cost to selling price : 

Raw materials - 55% 

Direct labour - 20% 

Overheads - 15% 

Other information : 

Raw materials required in stock - 2 months 
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Processing period - 1 month 

Finished goods in stock on an average - 2 months 

Recovery from customers after one month. 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x öPõsk {Ö©zvØS 
÷uøÁ¯õÚ P»s¤US® AÔUøP°øÚ u¯õº 
ö\´P. 

 ©õu EØ£zv AÍÄ 20000 A»SPÒ 

 ÂØ£øÚ Âø» A»S JßÖUS ¹. 20 

 ÂØ£øÚ ÂÎ®¦ 10% 

 ÂØ£øÚ Âø» «x Gvº£õºUP¨£k® AhUP ÂQu 
ö\»Ä 

 ‰»¨ö£õ¸mPÒ –55% 

 ÷|μi T¼–20% 

 ÷©Øö\»ÄPÒ –15% 

 Cuμ uPÁÀPÒ 

 C¸¨¤À ÷uøÁ¯õÚ ‰»¨ö£õ¸mPÒ–2 ©õu[PÒ  

 £i•øÓU Põ» AÍÄ 1 ©õu® 

 •iUP¨£mh ö£õ¸mPÒ C¸¨¦ \μõ\›¯õP –  
2 ©õu[PÒ 

 ÁõiUøP¯õÍ›hª¸¢x v¸®£ ö£ÖuÀ 1 ©õu® 
PÈzx. 

——————  


